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MAN is born free; and everywhere he is in chalns. One thinks

4 himself the master of .others, and still remains a greater slave than
they. How did this change come about? I do not know. What can make
. it legitimate? That question I think I can answer.

I . If I took into account only force, and the effects derived from it, I
should say: "As long as a people is compelled to obey, and obeys, it
does well; as soon as it can shake off the yoke, and shakes it off, it
| does still better; for, regaining its liberty by the same right as took It
away, eitheritis jus_tifiéd in resuming it} or there was no justification
for those who took it awéy." But the social order is a sacred right which
is the basis of all other rights. Nevertheless, this right does not come
from nature, and muist therefore be founded on conventions. Before
coming to that, I have to prove what I have just asserted. (Jean

4 Jacques Rousseau, Social Contract)
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1. If good X is a normal good and its price rises, then quantity demanded
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10.

will always fall. b.  may or may not fall. ¢.  will always rise.
will remain unchanged.

Assume X and Y are the only two goods a person consumes. If after a rise in P, the quantity
demanded of Y increases, one could say

the income effect dominates the substitution effect for ¥,

the substitution effect dominates the income effect for ¥,

it is impossible to determine whether the substitution or income effect dominates for ¥,
None of the above.

For a linear demand curve

the price elasticity of demand increases (becomes less negative) as ( increases and P decreases.
the price elasticity of demand decreases (becomes more negative) as Q increases and P decreases.
the price elasticity of demand is constant for all values of P and .

the price elasticity of demand is not change at all for all values of P and .

If demand is elastic, a decrease in quantity will cause the iotal spending (P x O) to
rise, b, fall ¢ remain unchanged.
change in a way that cannot be determined.

Graphically, the average productivity of labor would be illustrated by

the slope of the total product curve at the relevant point.

the slope of the chord connecting the origin with the relevant point on the total output curve.
the negative of the slope of the marginal productivity curve at the relevant point. -

the slope of the marginal productivity curve at the relevant point. '

A firm’s {soquant shows
the amount of labor needed to produce a given level of output with capital held constant.
the various combinations of capital and labor that will produce a given amount of output.

the amount of capital needed to produce a given level of output with labor held constant.
None of the above.

A firm whose production function displays increasing returns to scale will have a total cost curve
that is

a curve with a positive and continually decreasing slope.

a straight line through the origin,

a curve with a positive and continually increasing slope.

a curve with & negative and continually decreasing slope.

A firm’s marginal cost is defined as

the ratio of total cost to total output,

the additional cost of producing one more unit of cutput.

the ratio of total output to total cost. d. the reciprocal of total average cost.

If a firm is a price taker, its marginal revenue is
equal to market price. b.  less than market price. ¢.  greater than market price.
a multiple of market price that may be either greater than or less than one.

If a firm’s marginal revenue is below its marginal cost, an increase in production will usuatly
decrease profits. b.  leave profits unchanged. c.  increase profits,
increase marginal revenue,
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11. If the market for hula-hoops is characterized by a very inelastic supply curve and a very elastic
demand curve, an inward shift in the supply curve would be reflected primarily in the form of
a. higher prices. b.  higher output. ¢ lower prices. d. Jower output.

12.1f the market for bottled spring water is characterized by a very elastic supply curve and a very
inelastic demand curve, an outward shift in the supply curve would be reflected primarily in the
form of

a. higher prices. b.  higher output. c. lower prices. d. lower output,

13. A deadweight loss of consumer and/or producer surplus occurs when
a. praducers fail to maximize profits.
b. consumers do not maximize their utility.
c. the price of inputs increases,
d. mutually beneficial transactions cannot be completed.

14. In the short run, specific taxes on a firm resulf in
a. shortages of the good being taxed.

b. an increase in consumer surplus becanse the tax permits spending in additional government
services.

price increases that may not persist in the long run.
an increase in producer surplus because of the rise in price,

IS

5. The excess burden of a tax is

the amount by which the price of a good increases.

The amount by which a person’s after-tax income decreases as a result of the new tax.

the loss of consumer and producer surplus that is not transferred elsewhere.

the welfare costs to firms forced to leave the market due to an inward shift of the demand curve.

N

16.  The principal difference between economic profits for a monopolist and for a comﬁetitive firm
is that

a. competitive profits exist only in the short run whereas monopoly profits may exist in the long run as
well. o ' ' ’

b. monopoly profits create major problems of equity whereas competitive profits do not.

monopoly profits represent a transfer out of consumer surplus whereas competitive profits do not.

monopoly profits are usually larger than competitive profits.

e

17. From the point of view of economic efficiency, output in a monopolized market is
a. too high. b.  too low. ¢, perfect. d. undesirable,

18. Under the price leadership model,

a. most firms act independently of the leader.

. the leader’s price is always lower than the other firms” prices.
c. all firms adjust their prices to that chosen by the leader.

d. the leader’s price is always higher than the other firms’ prices.
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19, In the Cournot model, each firm assumes that its rival will its output when the
firm adjusts its own output. Which word best completes the sentence?

a. increase b.  not known c.decrease  d. not change

20, If a firm is a price taker in the input market but not in the output market, its marginal value

i product of labor

: exceeds the marginal revenue product of labor.
equals its marginal revenue product of labor,

is less than the marginal revenue product of labor.
equals the marginal physical product of labor,
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21. An increase in the corporate profits tax will most likely lead to

a. a decrease in the rental rate of capital in the corporate sector.

b an increase in the rental rate of capital in the corporate sector.

c. no change in the rental rate of capital in the non-corporate sector.
d no change in the rental rate of capital in the corporate sector.

22. The present value of $1 payable in two years is

a  $L b, $1/(1+2r). o S+
d SUE-29).

23. With moral hazard fair insurance contracts are not viable because
a. individuals’ aversion to risk is reduced.

b. insurance company’s administrative costs are increased.

¢. individuals fear unscrupulous agents,

d. probabilities of loss are increased over what is expected.

24. Risk averse individuals will diversify their investments because this will
a. increase their expected returns. b.  provide them with some much-needed variety.

! c. reduce their transactions costs. D. reduce the variability of their returns.

25. In perfect competition, environmental externalities need not distort the allocation of resources

providing
a.  the government sets realistic pollution standards,
b. average costs are constant for all output levels.
. G firms install pollution control equipment. d. transactions costs are zero.
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1. The value of real GDP in the current year equals
a. the value of current-year output in prices of the base year
b. the value of current-year output in prices of the current
c. the value of base-year output in prices of the base year
d. the value of base-year output in prices of the current year

2. The Boskin Commission concluded that the CPI overstates increases in the cost of living by
percentage point(s) per year.
a. less than 1 b.1to2 ¢. About 3 d. Over 4

3. Suppose that in 1997 Freedonia had GDP equal to 2000 million, the capital stock was equal
to 1700 million, the mumber of employees equaled 70 million. The production function is
. Y=AK"* N, Total factor productivity of the economy in that year was approximately
o equal to
a 12.87 b. 2.61 c. 4.19 d. 0.09

4, An increase in the real wage rate will cause
a. the labor demand curve to shift to the right
b. amovement along the labor demand curve
| c. the quantity of labor demanded to rise
d. the labor demand curve to shift to the left

1 5. According to Okun’s law, if output grew 7 percent and full-employment output rose 2
percent, what would be the.change in the unemployment rate?
EE e a.-5% b. -2% €.2% d. 5%

6. How many people are liriempl()yed if the employment ratio is 75%, there are 90 million
people employed, and there are 20 million people not in the labor force?
a. 20 million b. 10 million ¢ Smillion  d. 0 million

7. Which of the factors listed below might cause the Ricardian equivalence proposition to be
violated?

i a. Consumers may not understand that increased government borrowing today is likely to

\ lead to higher future taxes.

b. There may be international capital inflows and outflows.

There may be constraints on the level of government spending,

There may be constraints on the level of government taxation.

g o

Desired national saving would unambiguously increase if there were
an increase in current output and expected future ontput

a fall in both government purchases and expected future output.

an increase in expected future output and the expected real interest rate
an increase in expected future output and government purchases
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9. Suppose your company is in equilibrium, wih its capital stock at its desired level. A
permanent increase in the depreciation rate now has what effect on your desired capital stock?
a. lowers it, because the user cost of capital is now higher

lowers it, because the future marginal productivity of capital is lower

reises it, because the user cost of capital is now lower

raises it, because the future marginal productivity of capital is higher

e o

1 10. " When desired national saving equals desired national investment, what market is in
; equilibrium?

a. the goods market b. the money market c. the foreign exchange market

i d. the stock market

11. Suppose output is $35 billion, government purchases are $10 billion, desired consumption
is $15 billion, and desired investment is $6 billion. Net foreign lending would be equal to
a, -4 billion b. -2 billion c. 2 billion d. 4 billion

12. " Alarge open economy reduces its investment demand. This causes the world real
interest rate to and the country’s current account balance to
a. rise; fall b. tise; rise c. fall; rise d. fall; fall

I3, In 1994, the Mexican economy faced a criseis because
a. its government budget deficit rose sharply

b. inflation rose to over 100% per year

¢. NAFTA caused the disappearance of many jobs

d. foreign investors ‘withdrew their funds

14, Over the past year, productivity grew 1%, capital grew 2%, and labor grew 2%, If the
! elasticities of output with respect to capital and labor are 0.3 and 0.7, respectively, how much
i did output grow?

4 a. 1% b. 2% c. 3% d. 4%

15. If capital and labor each grow 5% in a year, the elasticities of output with respect to capital
and labor sum to one, and productivity grows 2% in the year, by how much does output grow
during the year?

a.2% b. 3% ¢ 7% d. 5%

i 16. A new pollution law requires businesses to pay for inspections of their plants by
independent pollution-monitoring firms. What effect is this likely to have?

'T a. reduce productivity b. increase the capital stock c. increase productivity
d. increase the demand for labor in those firms

. 17.  One of money’s primary roles in the economy comes from the use of money to transfer
b purchasing power to the future.  This role of money is called

a. unit of account  b. store of value ¢. medium of exchange d. standard of

i deferred payment
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. 18. 'Which of the foilowing is most likely to lead to an increase of 1% in the noininal demand

for money?
a. an increase in real income of 0.5% b. a decrease in real income of 0.5%
¢.  anincrease of 1% in the price level d. a decline of 1% in the price level

19.  The thres main components of the aggregate demand-aggregate supply model include
a. AD, SRAS, LM b. SRAS, LRAS, 18 c.AD, I8, LM d. AD, SRAS, LRAS

20.  Any change that reduces desired saving relative to desired investment (for a given jevel
of output) causes the real interest rate to and shifts the IS curve .
a. increase; up b. increase; down c. decrease; down d. decrease; up

21. Keynesian economists think general equilibrium is not attained quickiy because

a. the real interest rate adjusts slowly b. the price level adjusts slowly
c. the real wage rate adjusts slowly d. the level of output adjusts slowly

22.  Which of the following changes shifts the AD curve to the left?
a. Atemporary increase in government purchases '

b. Arise in the nominal money supply c. a decrease in consumer confidence
d. a decrease in corporate taxes

23.  Inthe classical model, a temporary decrease in government spending would cause a
decrease in L - : :

a. " output, the real intetest rate, real wages, and the price level

b. employmen, the real interest rate, real wages, and the price level

¢. output, employment, real wages, and the price level

d. output, employment, the real interest rate, and the price level

24.  The short-run aggregate supply curve can slope upward because
a. prices are fixed in the short run

b. wages adjust immediately to changing economic circumstances

¢ prices adjust instantaneously

d. producers have misperceptions about the aggregate price level

23. According to the misperceptions theory, an unanticipated decrease in the money supply
shifts the AD curve to the causing output to in the short run.
a. right; rise b. right; fall c. left; rise d. left; fall
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